SUZUTEC &t

IN—Y X
THK6250

THK6150
HK625




1 L—JLAssy(6250)

2 L—J)LAssy(6150)

3 L—JLAssy(625)

4 FHBIL— L (AT - #&)Assy
5 At HAssy

6 filAssy

7 v RXAA2—(CR-101 )Assy
8 ERE R Assy

9 T ANRY/N—Assy
10 BERT 5 (F T JL)Assy
11 ASEZEEAssy

12 £ 32 (FAssy

IN—YRNE R

13 FKEEAssy

14 7K 5%+ Assy

15 #5FE &P Assy(6250,625)
16 &2 P Assy(6150)

17 A—JLH A KAssy

18 J4—7% Assy

19 EXZ:(TAssy

20 IR LEERT S5 Assy
21 BER TSV (@EL -2 L)Assy
22 V3 LsAssy

23 Z L ZI+Assy

24 FDfth-1/E &



1l.v-wAssy (6250)




1. L—JLAssy(6250)

No. a—kK Hama THK6150 THK6250 HK625 & HEE
39 | 20174-41480 | I’ LA-5-R9L—nN"—(XK) 1

40 | 20147-41430 | T LAO—5-RJL—n'— 4

41 | 20035-41080 ¥ ThhN— 1

42 | 20062-41010 | Fx—2HAFA) 1

43 | 20070-31460 | L —JLA/N—(L1) 1

44 | 20070-31500 | L —JLA/A—(R1) 1

45 | 20070-31470 | L —JLA/N—(L2) 1

46 | 20070-31480 | L —JLA/A—(R2) 1

47 | 20070-31490 | L —JLA/3—(L3) 1

48 | 20070-31510 | L —JLA/3—(R3) 1

49 | 20000-41350 Emv—2 1

50 | 20035-41100 H5—(15) 9

51 | 20060-41180 X #£(20) 2

52 | 20035-41170 X 12 L=37
53 | 20000-41780 | /NREHANAMNRILE 2 M6 X 12
54 | 20000-42010 | /NREHANANRILE 4 M6 X 16
55 | 20000-41730 | /NREANARILE 34 M6 X 12
56 | 01000-00610 NARILE 12 M6 X 10
57  01114-00612  +FyRAFFSRINRD 12 M6 X 12
58 | 01250-00606 ELEFFvb 9 M6
59 | 0120000605 NAFYE 33 M6
60 | 20005- 419 AL 11

61 01420-01016 ESH AR 11 M10
62 | 02100-01010 EVVY 5 FEUE10
63 | 02110-00808 EVVYT 11 FEUES
64 | 02110-00608 EVVY 4 FEUE6
65 | 20000-41500 REY 27

66 | 03003-41034 A—>—Fz—V 1 #410 34L
67 | 20060-41350 | FI—2HAKD) 1

68 | 01400-00615 INRHFH R 16 M6
69 | 0150003025 BEY 2 3x25
70 | 20033-41020 XTIk A Yk 2 M6

No. O—K EREn S THK6150 THK6250| HK625 BE

1 | 20070-11010 L—IL5ESEL) 1

2 | 20070-11020 L—IL5EHER) 1

3 | 20070-41320 2w IMB) 10

4 | 20070-41330 pE Ll 1

5 | 20070-41350 TS EREEHA 2

6 | 20070-41410 TS5 ERE)EHB 1

7 | 20070-41370 FERShE 1

8 | 20070-41380 | fiyn—-BREIV Y7 MR ER) 2

9 | 20070-41530 ESIELERShE 1

10 | 20000-42590 @ L—ILAMN =K b+ 8

11 20004- 409 | #rILA—5— 27 10/
12 | 20208-41241 | #¥3dL0—5—(B) 12 w12/
13 | 20034-41010 DI LA—A—5— 2 S1E P48
14 | 20048-42080 = LO—O—5—(S) 2 L=50
15 | 20000-41130 p46VI—1)— 2

16  03510-00073 VAR Lk 2 M73
17 | 20030-41119 HAFHR 2

18 | 20070-31690 EiEEEA) 1

19 | 20070-31700 EfEE£EB) 1

20 | 20070-31750 ST B 2

21 | 00931-40017 [E#E/ AR 2

22 | 20070-31710 EfEEE(Q©) 1

23 | 20070-31720 EfEEED) 1

24 | 03003-41020  O—5—FI—> 1 #410 20L
25 | 03003-41042 | O—5—Fz—> 1 #410 42L
26 | 03003-41046 4 O—5—Fz—> 1 #410 46L
27 | 03003-41052 | O—5—Fz—> 1 #410 52L
28 | 03003-41202 | O—5—Fz—> 1 #410 202L
29 | 20005 411 | AAILLARTYLY 22

30 | 20000-42120 | RFYL 4545 —R(C) 6

31]02202-06001 | R—ILRFYLS 14 6001UU
32 | 20038-41250 Hh5—B) 5 L=3
33| 20070-31530 | Fr—2HAK(B) 1

34 | 20038-41240 H5—(A) 9

35 | 20070-41400 | R7YL G HR)LE — 4

36 | 20052-41140 Fv—>15) 4

37 | 20000-41430 A7A4 Yk (8T) 9

38 | 20000-41140 2704 vk (8T) 6 BEdE @ 12




2.v=Assy (6150 )




2. L—JLAssy(6150)

No. a—kK B THK6150 | THK6250 HK625 = 1EE

39 | 20174-41480 T LAA-5-R9L-n'—(K)| 1

40 | 20147-41430 | 3T AA—5-RHL—-n"— 2

41 | 20035-41080 ¥ ThhN— 1

42 | 20048-42420 | ¥ ThH/N—(20) 1

43 | 20071-31010 | L —/)LA/3—(L1) 1

44 | 20071-31020 L —JLAH/ N —(R1) 1

45 | 20070-31470 | L —JLA/N—(L2) 1

46 | 20070-31480 L —JLH/N—(R2) 1

47 | 20070-31490 | L —JLA/N\—(L3) 1

48 | 20070-31510 L —JLH/3 —(R3) 1

49 | 20035-41170 X 12 L=37

50 | 20000-41350 Emv— 1

51 | 20000-42010 /NRFEHHIANRARILE 4 M6 X 16
52 | 20000-41780 /NRFEAHIANRARILE 8 M6 X 12
53 | 20000-41730 | /ARFEANRARILEL | 12 M6 X 12
54 | 01000-00610 ANARILE 12 M6 X 10
55 | 01114-00612  +FyIRFESRIMRT | 12 M6 X 12
56 | 01250-00606 E£ 4k 10 M6

57 | 01200-00605 NATYE 28 M6

58 | 20000-41500 REY 17

59 | 20005- 419 HLEE 9

60 | 01420-01016 ESHYH* 11 M10

61 | 02100-01010 EYVVY 2 FEUE10
62 | 02110-00808 EYVY 13 FEUES
63 | 02110-00608 EVVY 2 FEUE6
64 | 20062-41010 | FI—2HAKA) 1

65 | 20070-31530 | FrI—2HAK(B) 1

No. a—K EREn S THK6150 THK6250| HK625 BE

1 | 20071-11010 L—IL5ESEL) 1

2 | 20071-11020 L—IL5EHER) 1

3 | 20070-41320 2w IMB) 10

4 | 20070-41330 pE Ll 1

5 | 20070-41350 TS EREN S 2

6 | 20070-41370 FEREhE 1

7 | 20070-41380 | hynN—EREIV4¥IMRER)| 2

8 | 20070-41530 | EIXLEREIS v I+ 1

9 | 20000-42590 L= ARy =KLk 8

10 | 20004- 409 | #xTL0—5— 22 510/
11| 20208-41241 | #:E3 LD—5—(B) 8 w125
12 | 20034-41010 DI LA—A—5— 2 S1E P48
13 | 20048-42080 o LO—O—5—(S) 2 L=50
14 | 20000-41130 p46VI—1)— 2

15 | 03510-00073 VA LR 2 M73
16 | 20030-41119 HARR 2

17 | 20070-31690 EiEEEA) 1

18 | 20070-31700 EfEEEB) 1

19 | 20070-31750 ST H 2

20 | 00931-40017 [E#E/ A% 2

21 | 20070-31710 EfEEEQ©) 1

22 | 20070-31720 EfEEED) 1

23 | 03003-41020  O—5—Fz—> 1 #410 20L
24 | 03003-41024 | O—5—Fz—> 1 #410 24L
25 | 03003-41042 | O—5—Fz—> 1 #410 42L
26 | 03003-41046 4 O—5—FI—> 1 #410 46L
27 | 03003-41052 | O—5—FI—> 1 #410 52L
28 | 03003-41186 | HO—F—FI—> 1 #410 186L
29 | 20005- 411 | AAJLLARTYVS | 19

30 | 20000-42120 | RFYL45 45 —2R(C) 5

31[02202-06001 | HR—)L_AF7YLH 8 6001UU
32 | 20070-41400 | R7YL G HR)ILE — 4

33 | 20052-41140 Fv—©15) 4

34 | 20038-41240 H5—(A) 8

35 | 20038-41250 H5—(B) 4 L=3
36 | 20035-41100 H5—(15) 8

37 | 20000-41430 A7A4 Yk (8T) 8

38 | 20000-41150 2704 vk (8T) 8 BEE @ 12







3. L—JLAssy(625)

No. — a—F BRLH THK6150| THK6250| HK625 = &

39 | 20038-41240 H5—(A) 9

40 | 20038-41250 $15—(B) 4 L=3

41 | 20070-41400 | RFPYLHHRILE— 2

42 | 20052-41140 Fy—(15) 2

43 | 20000-41430 A7O4yk(8T) 17

44 | 20000-41150 A7A4 vk (8T) 8 | BEkED12
45 | 20174-41480 | ' AA—5-R9L—N'—(K) 4

46 | 20174-41440 | 2°A0—5-R9L—nN'—(H) 1

47 | 20070-31620 | L—JLA/A—(L1) 1

48 | 20070-31630 | L —JLA/N—(R1) 1

49 | 20070-31640 | L —JLA/N—(L2) 1

50 | 20070-31650 | L —)LA/\—(R2) 1

51 | 20070-31660 = L —JLA/3—(L3) 1

52 | 20070-31670 | L —/)L A/ —(R3) 1

53 | 20035-41170 X 12 L=37

54 | 20000-41350 Emv—2 1

55 | 20060-41180 F #£(20) 2

56 | 20000-41780 | /NRFEHMAANHRILL 8 M6 X 12
57 | 20000-41730 | /NREANARILE 20  M6x12
58 | 01000-00610 NARILE 12 M6 X 10
59 | 01500-03025 By 20 3% 25
60 | 01114-00612 | +FFUFEZRIMRD 12 M6 X 12
61 | 01200-00605 RAFTYE 30 M6

62 | 01501-00808 REY 2

63 | 01420-01016 ESHYHR 11

64 | 20005- 419 L 11

65  02100-01010 EYVVY 4 | FFEUE10
66 | 02110-00808 EVVY 11 FEUES
67 | 02110-00608 EVVY 4 FEUE6
68 | 20000-41500 REY 13

69 | 20000-41140 2704 ykET) 8 #wmE10
70 | 01000-00612 NARILE 9 M6 X 12
71 | 01400-00615 INRHFHR 16 M6

No. a—K BB TR THK6150 | THK6250 | HK625 BE

1 | 20070-11030 L—IL5ESEL) 1

2 | 20070-11040 L—IL5EHER) 1

3 | 20070-41320 v IRB) 10

4 | 20070-41330 EHEER(A) 1

5 | 20070-41350 TS ERENEHA 1

6 | 2007041410 TS5 ERE)EHB 1

7 | 20070-41370 FEREhE 1

8 | 20070-41380 | hynN—BEREN 47N/ EE) 1

9 | 20070-41530 EIELERShEH 1

10 | 20000-42590 L= ARy =i b 8

11 | 20004- 409 | f*TLO0—F5— 26 510/
12 | 20208-41241 | X3 LA—5—(B) 14 w125
13 | 20034-41010 g4L0—5— 2 | Ep4s
14 | 20048-42080 oL A—A—5—(S) 2 L=50

15 | 20000-41130 ¢ 46VT—1)— 2

16 = 03510-00073 VAR Lk 2 M73

17 | 20030-41119 HAFHR 2

18 | 20070-31690 EiEEEA) 1

19 | 20070-31700 EiEEEB) 1

20 | 20070-31750 ST By 2

21 | 00931-40017 [E#E/ A% 2

22 | 20070-31710 EfEEE(Q©) 1

23 | 20070-31720 EfEEED) 1

24 | 03003-41020  AO—5—Fz—> 1 #410 20L
25 | 03003-41022  AO—5—Fz—> 2 #410 22L
26 | 03003-41024  AQO—5—Fz—> 2 #410 24L
27 | 03003-41026 AO—5—Fz—> 1 #410 26L
28 | 03003-41032  A—5—Fz—> 1 #410 32L
29 | 03003-41036  A—F—Fz—> 1 #410 36L
30 | 03003-41038  A—5—Fz—> 1 #410 38L
31 | 03003-41040  A—5—Fz—> 3 #410 40L
32 | 03003-41042 A—>—Fz—V 1 #410 42L
33 | 03003-41044  AQO—5—Fz—> 1 #410 44L
34 | 20005- 411 | AAILARTYLY 22

35 | 20000-42120 A7 454 —Z(C) 6

36 | 02202-06001 R—IRTFTYLY 10 | 6001UU
37 | 20035-41100 H5—(15) 1

38 | 20035-41080 SxIhhN— 1







4. FHEIL—IL(RT- &) Assy

No. aJ—K B ERBFR THK6150| THK6250| HK625 BE

39 | 00980-42870 Y 3—K(6250) 1 1 1 L=950
40 | 20041-41420 | O—FiEHE~—2Y 1 1 1

41| 00980-41200 | Ty avwvbiaq 1 1 1 SKB-130PR
42 | 20033-41400 a—ro507 2 2 2

43 | 20308-41230 S —k 2 2 2

44 | 01501-00818 RE> 2 2 2 ¢8

No. a—K BB TR THK6150 | THK6250 | HK625 BE

1 | 20070-21160 | BEBp#HBIL —IL(L) 1 1 1

2 | 20070-21170  BREI#HBIL—IL(R) 1 1 1

3 | 20070-31730 EEEEE) 1 1 1

4 | 20070-31850 EiEEEG) 1 1 1

5 | 20070-21180 wmyL—ILL) 1 1 1

6 | 20070-21190 L —ILR) 1 1 1

7 | 20070-31860 EiEEEH) 1 1 1

8 | 20070-31740 EfEEEFE) 1 1 1

9 | 01511-00818 RE>(B) 3 3 3 8

10 | 20000-41730 @ /NREHANFHRILE 8 8 8 M6 X 12
11 | 20050-41020 FTEF vk 4 4 4

12 | 01000-00825 NARILE 4 4 4 M8 X 25
13 | 01200-00807 RAETFTYE 4 4 4 M8

14 | 20308-41230 rSo—b 4 4 4

15 | 20041-41150 N)LMRYEE 2 2 2

16 | 20005- 411 | FAILARTYLY 2 2 2 10% 13
17 | 00931-40019 [Ef#E/ A 2 2 2

18 | 20048-41350 | ~NJLREFH v I+ 1 1 1 10 X 340
19 | 20000-41350 P 46VIT—!)— 2 2 2 24

20 | 01500-03025 [ 2 2 2 3% 25
21 | 01420-01016 ESH AR 8 8 8 M10

22 | 01501-00918 REY 2 2 2 9

23 | 20000-42590 L —JLAky/S—iRJLE 5 5 5

24 | 20066-41010 AT 3 3 3 13x18
25 | 01200-00605 RAETFTYE 10 10 10 M6

26 | 01400-00615 NS H R 4 4 4 M6

27 | 20013-31102 L—IL 4B # 2 2 2

28 | 20013-41103 FEFvbk 4 4 4 M6

29 | 01000-00610 NAERILE 8 8 8 M6 X 10
30 | 20112-31111 REYRKLER 1 1 1

31 | 20030-41119 HAFR 2 2 2

32 | 01020-90610 FaoRILE 2 2 2 M6 X 10
33 | 20000-41780 /NREHANARILL 2 2 2 M6 X 12
34 | 20033-41020 | 7Y 1E&HFYF(M6) 4 4 4

35 | 20050-31480 EF 1 1 1

36 | 20000-42010 |/ NREHANARILE 2 2 2 M6 X 16
37 | 20013-41111 | s#EFA—5—I % Tk 4 4 4

38 | 20013-41112 WEIO—5— 8 8 8




5. At Assy

Ke
e

No. a—FK ERE ] THK6150 | THK6250 | HK625 HE

1 | 20307-31270 | t H—IS545 vk 1 1 1

2 | 20307-42390 oY —itF 1 1 1

3 | 20307-41631 U#R 1 1 1

4 | 01500-03015 B 1 1 1 3x15
5 | 01113-00308 | +=FyUFHVE R 1 1 1 M3 x 8
6 | 20033-41600 TAIAR(YF 1 1 1 |V-153-1A5
7 | 01110-00316 | +FIUFFNIZRD 2 2 2 M3 % 8
8 | 01400-00307 NI 2R 2 2 2 M3

9 | 01200-00324 RAFVE 2 2 2 M3
10 | 00930-40033 EIE A S 1 1 1

11 | 20000-41780 | /NREFHIANARILL 1 1 1 M6 x 12
12 | 01250-00606 E&fFvk 1 1 1 M6




6. fiil Assy

No. a—K HRB THK6150 | THK6250 | HK625 e
1 | 20070-31610 B TS 2 2 2
2 2 | 20000-41780 |/NREHANRAARILE] 2 2 2 M6 x 12
‘f@/ 3 | 20041-31200 ScHgARILE 2 2 2 M8 X 16
4 | 20000-42680 JIRILE 2 2 2 M8 X 16
2
B
9 %@\
Q\
— Q)
2 24
N L /
KN




7. ¥ XF— Assy
(CR-101)

No. a—K HRB THK6150 | THK6250 | HK625 HE
1 | 29222-41140 JL—Ls 1 1 1

2 | 29222-41120 REUR 1 1 1

3 | 29222-31070 Daws 2 2 2

4 | 20050-41310 ERft(0I) 2 2 2 L=11
5 | 01420-01016 ESHAHR 4 4 4 M10
6 | 01501-00918 REY 2 2 2 ®9FE
7 | 01000-00612 NAERILE 2 2 2 M6 X 12
8 | 01200-00606 EEMFVk 4 4 4 M6




3. 5WEH: Assy




8. BRENERAssy

No. a—F Hama THK6150 THK6250 HK625 = fHE
39 | 01200-00605 NATYE 4 4 4 M6
40 | 01511-00818 NATFYE 1 M8
41 | 01200-00403 NAETYE 1 1 1 M4
42 | 20000-41910 R 1 1 1 M6 X 10
43 | 00980-41200 TyavHREA 16 16 16 | SKB-130PR
44 | 00980-41210 | Fvy 2wy h424(B) 5 5 5 SKB-145PR
45 | 20033-41400 a—ro3507 5 5 5

46 | 20000-42500 | AYFYY I4¥—HFN LGN 8 8 8

47 | 20000-42510 | AYFY9 74¥—%FIL(K) 2 2 2

48 | 20050-41610 EEY—Y 1 1 1

49 | 20070-41580 sSwWv—% 1 1 1

50 | 20070-41590 EHR~<—2 1 1 1

51 | 20070-31070 | #&i%4E HEREITA 1(6250) 1 1

52 | 20071-31070 | &% &L HEREITA I(6150) 1

53 | 20070-31520 B iR & 1 1 1

54 | 01421-00816 ESHAHR 2 2 2 M8

No. a—K BB A TR THK6150 | THK6250 | HK625 BE

1 | 20070-21110 EF—R—R—2 1 1 1

2 | 20070-31760 Fy—FE—FIL 1 1 40W 1/50
3 | 20071-31080 Fy—FE—FIL 1 40W 1/75
4 | 20000-42840 | BREIRTO4 v (10T) 1 1 |[shp12 ¥
5 | 20000-43390 | EEEHRTO4 v OT) 1 o122 ¥t
6 | 20070-41550 | WRFO4 vk (13-22T) 1 1 1

7 | 20070-41560 | WRZFO4w(15T-18T) 1 1 1

8 | 20070-31680 ToiavnN—2X 1 1 1

9 | 20021-41117 |  #AJILL XEZ(B) 4 4 4 12%15
10 | 20070-41610 @)1 ART— 1 1 1

11 | 20070-41700 B ERAR 1 1 1

12 | 20070-41630 EE/N\VEIL 1 1 1

13 | 20070-41620 Foiavr7—A 1 1 1

14 | 20117-32320 WET—1)— 2 2 2

15 | 20070-21150 E—4—Hh/— 1 1 1

16 | 00980-42880 Oy H—SW(ER) 1 1 1 R9-492-ALH
17 | 00980-42881 O0vyAh—SW(E) 1 1 1 R9-492-ALH
18 | 00980-42882 Oyh—SW(E) 1 1 1 R9-492-ALH
19 | 00980-42810  #EfEdf#0—K(6250) 1 1 1

20 | 00980-42820 = HfO—F(#187.#250) 1 1 1

21 | 00980-42830 EIEI—F(6250) 1 1 1

22 | 00980-42840 | > Hhia—F(6250) 1 1 1

23 | 00980-42850 | E—4—rh#a1—K(6250) 1 1 1

24 | 00980-42860 i3 —K(6250) 1 1 1

25 | 03003-41051 A—5—FzI—Y 1 1 1 #410 51L
26 | 29202-31050 ACY vk 1 1 1 AC-TO1FB33
27 | 20133-41150 avFoYy 1 1 1 10uF
28 | 20000-41780 | /AR LR A RANRIL - 7 7 7 M6 X 12
29 | 20033-41010 FEFvbk 2 2 2 M6
30 | 01421-00610 ESHAH* 9 9 9 M6
31 | 01400-00615 INRHFHR 4 4 4 M6
32 | 20228-41020 X 2 2 2 L=44
33 01110-00412 | +FFAFFNIhRD 1 1 1 M4 X 12
34 | 01511-01223 RE>(B) 1 1 1 12L
35| 01421-01233 ESHAH* 1 1 1 M12
36 | 01250-00606 EEFEFVE 1 1 1 M6
37 | 02110-00608 ERIF Adf 1 1 1 U6
38 | 20070-41690 NARILE 1 1 1 M8 x 35




9.t AnK v -Assy




9. T AN Y/N—Assy

No. — a—F BRLH THK6150 | THK6250 HK625 = 1HE

39 | 01220-00806 NATVEIE) 2 2 1 M8

40 | 00931-40046 EHE/ AR 2 2 1

41 | 01421-00816 ESHYH* 2 2 1 M8

42 | 20048-42060 I LI Z(EIR) 4 4 2

43 | 20048-42070 AL LGEIR) 4 4 2 T0.3

44 | 20133-41070 dJLAL(H0) 2 2 1 T0.38

45 | 20126-41170 SLEI(YSO) 2 2 1

46 | 01110-00612 | +F;R{fFFRIZRD 14 14 7 M6 X 12
47 | 20048-41830 | P yA—TL—b 2 2 1

48 | 20070-41760 RETZ I 2 2 1

49 | 20070-31790 IR — 2 2 1

50 | 20070-31800 D29FLiN— 2 2 1

51 | 20070-41720 7458—0OvkR 2 2 1

52 | 20070-41360 =%y 2 2 1

53 | 20070-21120 | T AN Y AFH/N— 2 2 1

54 | 20000-41220 | RT7A4vk(12T) 2 2 1 NP 12
55 | 20048-41150 ol i e 2 2 1

56 | 20208-41303 FALREHZ 4 4 2 10% 15
57 | 03003-41036 A—5—Fr—> 2 2 1 |#410 36L
58 | 20030-45117 | 25y F Wi~ —2 2 2 1

59 | 20060-41120 TEE(32) 2 2 1 |ml5 732
60 | 01000-00610 NARILE 2 2 2 M6 X 10
61 | 20030-45115 L/N— 2 2 1

62 | 01420-01223 ESHH* 4 4 2 M12

63 | 20208-42211 RE> 2 2 1

64  01501-00510 REY 6 6 3 5

65  01501-00918 RE> 4 4 2 9

66 | 01501-00816 RE> 2 2 2 b8

67  01114-00612  +FIRMAFSRPRS | 4 4 2 M6 X 12
68 | 20133-31040 A—5—7—ALA 1 1 1

69  20000-41130 27! )—HA—5—Lv Tk 1 1 1

70 | 20004- 409 @ #EEdLO—F5— 4 4 4

71 | 01421-00408 ESHYH R 2 2 2 M4

No. a—K BB TR THK6150 | THK6250 | HK625 BE

1 | 20070-21030 | a2 A_RF7IL—L(L) 2 2 1

2 | 20070-21040 | aYR7IL—LA(R) 2 2 1

3 | 20070-41650 | T AnA/A\—ikHhEER | 2 2 1

4 | 20070-41660 | T AhH/N\—EL &8 2 2 1

5 | 20208-41303 FAILLAEZ 8 8 4 10x 15
6 | 20013-41109 N)LhRYE R 4 4 2

7 | 01200-00807 NATYE 8 8 4 M8

8 | 20005- 411 | AAILLARTYLY 4 4 2 10% 13
9 | 20048-31650 T RE®RGIE) 1 1 1

10 | 20048-21120 A ka—5— 4 4 2

11| 20070-41710 | O—5—BRFH v+ T+ 2 2 1 10% 418
12 | 20048-41630 B v I+ 2 2 1

13 | 01420-01016 ESHHR 12 12 6 M10

14 | 01500-03025 | 8 8 4 3x25
15 | 20048-41420 NILhX X 2 2 1

16 | 20133-41020 A—>— 2 2 1

17 | 20028-45219 LAY 1 1

18 | 20048-21200 | aAVRF7ARJLAM) 2 2 1

19 | 20133-31030 JSVmG€E 2 2 1

20 | 20013-34204 INTSERE 2 2 1

21| 01110-00416 | +FIAFFRINRD 4 4 2 M4 X 16
22 | 01400-00410 NI H R 4 4 2 M4

23 | 01200-00403 RAETFTYE 4 4 2 M4

24 | 01000-00612 NARIE 4 4 2 M6 X 12
25 | 01250-00606 EE& Tk 18 18 9 M6

26 | 20000-41730 | /AREAANAARILE 8 8 4 M6 X 12
27 | 20033-41020 IXIYIESHF Y 8 8 4 M6

28 | 20070-21020 | * AniRky/\—5E# 2 2 1

29 | 20000-41780 | /NRFEHANARILEL | 12 12 6 M6 X 12
30 | 20148-41990 | H/NA—(TVRF7—) 2 2 1

31| 20070-41390 | ¥ y32—EREIS ¥ Tk 2 2 1

32 | 20048-31480 Ty B— 2 2 1

33 | 20070-41020 Sy a—Eh 2 2 1

34 | 20070-41680 | S +yi—TL—hFEY4) | 2 2 1

35 | 20000-42170  /NFFHAFANPRS | 4 4 2 M4 X 8
36 | 20070-41050 vy —EliR 4 4 2

37 | 20000-43380 el 2 2 1 e
38 | 00930-40022 5|5E/ % 2 2 1




43;%
27

10,077y (£71) Assy




No. a—K H@man THK6150 | THK6250| HK625 HE
39 | 20229-41031 | IA—5H5—(6.5) 2 2 L=6.5
40 | 20208-42303 AR—H 2 2 0.8
41 | 02100-00808 EVVY 4 4 RS
42 | 01000-00610 AR 2 2 M6 X 10
43 | 01114-00610 | +FRFFSRIDRD 2 2 M6 X 10
44 | 01500-03025 EEY 4 4 3x25

10. EEET S(F T )L)Assy

No. a—K BB TR THK6150 | THK6250 | HK625 BE
1 | 20070-21050 | 7'3YA4UN (8 7°1L)(L) 1 1

2 | 20070-21060 | 7°3YA4N (37 L)R) 1 1

3 200048-31310 P rREHIN— 4 4

4 | 20070-41180 | Rby/S8— v TH(364) 3 3

5 | 20070-41160 | [EIER7"7VhN—(BI) 1 1

6 | 20070-41780 | [EIFR7'FVhN (L) 1 1

7 | 20070-31130 [E1E5 7 53(140) 2 2

8 | 20070-41120 75 avkA) 2 2

9 | 20048-42320 SRE/ N — 1 1

10 | 20000-43350 SREARILE 2 2 M6 X 60
11 | 20070-31110 | JFSE#E0vRE)L) 1 1

12 | 20070-31120 | 53 :&@#0vEC)XR) 1 1

13 | 20070-41130 | TS E#HEOYRB) 2 2

14 | 20070-41140 wa)oy 2 2

15 | 29224-41331 HARRZUR(E) 1 1

16 | 29224-41341 HARREVE(H) 1 1

17 | 20000-43340 AEARILE 2 2 M6 X 40
18 | 20070-31050 [EERTSEREI<Y—Y 1 1

19 | 20048-42350 |  AFHFYT—4H(L) 1 1

20 | 20048-42360 HFHFJI—H(R) 1 1

21 | 20048-31620 IS5V 7—LALR) 2 2

22 | 20070-31840 | [EEET S H/— 2 2

23 | 20048-42431 B/HAR 2 2

24 | 20035-41010 |  RFO4ykI1T) 2 2

25 | 20035-41020 X704y k42T) 2 2

26 | 03003-25102 A—5—FzI—V 2 2 [#25 102L
27 | 20035-41170 X H(B) 2 2 L=37
28 | 20050-41450 B3R/ R 2 2

29 | 20033-41020 | <J1) 1k AF Y~ (M6) 6 6

30 | 20000-41780 | /NFFEHARANARILL 12 12 M6 X 12
31| 01114-00612 | +FRAFFSRINRD 4 4 M6 X 12
32 | 20041-41700 Bt 2 2

33 | 01250-00606 EL&FFvb 8 8 M6
34 | 01421-00610 ESHYH* 4 4 M6
35 | 20133-41220 Ayo+vk 2 2 M6
36 | 01290-90600 Faorvbk 2 2 M6
37 | 20000-41320 | AL ARTFYLY 12 12 10%13
38 | 01420-01016 ESHAH*R 10 10 M10




11. REEEE Assy

No. O—K BB B R THK6150 | THK6250| HK625 HE
1 129224—21052 AR 1 1 1

2 129224—41400 T—7 1 1 1

3 | 00931-40012 - TAS 2 2 2

4 | 29224-41720 7—LXAB) 2 2 2

5 | 20041-41700 Bt 2 2 2

6  01250-00606 E£ vk 2 2 2

7 | 29224-41690 | HXHYSRASIE L 1 1 1

8 | 29224-41700 | HF¥FYFAEE R 1 1 1

9 | 20133-41220 ayo+vbk 2 2 2 M6

10 | 20000-43120 |/NRFHHIANRARILEL] 2 2 2 M6 X 20
11 | 29224-41373 RSN 1 1 1 EJiuN=!
12 | 20000-43350 SREARILE 2 2 2




12. £ 32+ Assy

No. a—FK ERE ] THK6150 | THK6250 | HK625 HE

1 | 20070-31090 22—k 1

2 | 20050-31820 | =1+ —K(625) 1

3 | 01620-13206 | TSAFRyR(h) 4 6 | ¢32 L=6
4 | 20000-42490 Zv9(RV) 4 6




13 BKkKEEASSY




13. #EKEEAssy

No. a—K H@man THK6150 | THK6250| HK625 HE
39 | 20041-41500 FyuS 1 1 1

40 | 00931-40020 [EfE/ 1 1 1

41 | 04100-42124 oy 1 1 1

42 | 20000-41680 R— R/ X JL(A) 1 1 1

43 | 20000-41850 | Exftk—R/ X)L 1 1 1

44 | 06710-11200 i YAVIN 1 1 1

45 | 06600-00920 E-Z—JILH—X 1 1 1 9X12X%2m
46 | 20050-41150 oAk 1 1 1

47 | 20050-41160 APri 1 1 1

48 | 20041-41240 73 1 1 1

49 | 20041-41680 2500 Tya 1 1 1

50 | 20225-41330 a—FJwvwia 1 1 1 11x14
51 | 20033-41400 a—kKy507 1 1 1

52 | 20000-41780 | /SREHANRARILE 6 6 6 M6 X 12
53 | 29202-41030 URJILE 1 1 1

54 | 01280-00504 NARMFFYE 2 2 2 M5
55 | 20000-41910 i 2 2 2 M6 X 10
56 | 20033-41020 | <JY)1E&HF Y (M6) 2 2 2 M6
57 | 20041-41490 ARL—F— 1 1 1

No. a—K BB TR THK6150 | THK6250 | HK625 HE

1 | 20070-31540 HhO X1 IRA 1 1 1

2 | 20070-31550 ho X1 HI#RB 1 1 1

3 | 20070-31560 N RARIR 1 1 1

4 | 20070-41470 CEEU 1 1 1

5 | 20070-31570 INLTHN— 1 1 1

6 | 00980-41630  T|RI—FGHURA) 1 1 1 L=450
7 | 20000-31070 JXITS5S 1 1 1

8 | 06710-12000 i YAVIN 2 2 2 o 21
9 | 06710-12500 i YAVIN 1 1 1 ¢ 25
10 | 06600-01500 E=—JLik—X 1 1 1 15X 18 X 500
11 | 29202-41170 |  94—%—/\JLT 1 1 1

12 | 20041-41250 ga—2Jm\ L7 1 1 1

13 | 20048-42101 NAZYTIL 1 1 1

14 | 20000-42751 ayo+vk 1 1 1

15 | 20050-41171 A/ XL 1 1 K-25N
16 | 20049-41161 A/ X)L 1 S-18N
17 | 2000042182 £ 75t (DA) 1 1 1 0~0.25MPa
18 | 20000-42761 AyY+vkB) 1 1 1

19 | 20122-41081 HR—X/ X)L 1 1 1

20 | 20041-41270 JLxvyS 1 1 1

21 | 20000-43100 =PI RIN(®) 1 1 1

22 | 20070-41480 EK/ XL 1 1 1

23 | 20070-31580 IILRBEEF 3 3 3 13x13
24 | 20030- 436 /X JL/NAT(70-0.8) 1 1 13X 18X 374
25 | 20041-41380 | /X )L/RLF(47-0.8) 1 1 13X 18X 374
26 | 20071-41030 | /X )Ls8ALF(70-0.6) 1 13X 18X 374
27 | 20071-41040 | /X )LsRLF(47-0.6) 1 13X 18X 374
28 | 06100-01390 EZ—/(7 1 1 1 [1R/R VSR
29 | 06210-51313 F—X 1 1 1 13x13
30 | 20208-45316 TLE 2 2 2

31 | 20070-41060 SRJL(70) 1 1 1

32 | 20070-31030 EIKA Y 1 1 6250,625
33 | 20071-31040 EIKA Y 1 61508
34 | 20035-41470 EEY—Y 1 1

35 | 20041-31370 BEFAREK 1 1 1

36 | 20041-41470 INRZT 1 1 1

37 | 20041-41470 JLR—)L 1 1 1

38 | 20041-41480 AED 1 1 1




14. K521+ Assy

8
; 6
W
S
. 0
4
g
G
@ b
0}

b

No. a—F B a4 B THK6150 THK6250 HK625 = HHE

1 | 20070-31080 K2l —bk 1 1

2 | 20050-31670 K2l —bk 1

3 1 01620-13206 | T5A4 RNy 8 8 10 |32 L=6
4 | 20000-42490 7v9(RV) 8 8 10

5 | 20030-47125 HEKR—R 1 1 1 L=5m

6 | 20030-47119 Dyl 1 1 1

7 | 20030-47200 AVE 2 2 2

8 | 20033-41050 Tk 1 1 1

9 | 06252-52034 INILT Ik 1 1 1 IE 20x3/4




5 #ERAssy (6250,625)




15. ¥BFEEBAssy(6250,625)

No. a—K BB TR THK6150 | THK6250 | HK625 BE
1 |20070-21070 HARERZURWL) 1 1

2 | 20070-21080 HAERZUE(R) 1 1

3 1 20070-41300 | Rbw/8— % TH(328) 2 2

4 | 20070-21100 BiERY/ N — 1 1

5 |20050-41770 | Ao R —L % TRNN) 1 1

6 | 2000041800 AL REZ2(D) 4 4 12%18
7 | 20070-31590 {&iE[EE5T5(80) 1 1

8 | 20070-31310 | TS5 7 —LUERE)L) 1 1

9 20070-31320 | 7S5 7—L3EEE)R) 1 1

10 | 00931-40008 R TAES 4 4

11 | 2000041320 | AAIJLLARTYLY 2 2 10x13
12 | 20048-41100 RAILyIs— 1 1

13 1 20130-41313 | RFA4yk(13T) 1 1 #25 13T
14 | 20041-41040 | RFA4vkA42T) 1 1 #25 427
15  03003-25055 | H—IF—FI—> 1 1 #25 551
16 | 20050-41240 | RTFA4yk(13T) 1 1 #25 13T
17 | 20050-41250 | RTFA4vk(19T) 1 1 #25 19T
18 | 20050-41260 | R FA4vk3E0T) 1 1 #25 30T
19 | 20070-41520 A7 B4 yk(50) 1 1 #25 50T
20 | 20070-41540 2704y k42) 1 1 #25 42T
21| 20070-41410 X7A%4 v 60T) 1 1 #25 60T
22 | 03003-25084  MO—5—FI—Y 1 1 #25 84L
23  03003-25092 % A—5—FI—Y 1 1 #25 921
24 | 20070-31280 TayB—HAR 1 1

25 | 20070-31360 Dy —(&) 1 1

26 | 20070-31290 | {&F& Ry /S—HAF (L) 1 1

27 | 20070-31330 | #&iEH v/ \—HAFR) 1 1

28 | 20070-31270 BFEIRAAF 1 1

29 | 20070-31220 | {&FERy/N—ThE 1 1

30 | 20070-31230 NURIVZITE 1 1
3120070-31240 | S yiA—(U\a) 1 1

32 | 20070-41640 | ¥y A—FFZANIL 1 1

33 | 20030-44138 SFE AR 1 1

34 | 20070-21130 AEURSEREL) 1 1

35 | 20070-21140 ARURSERER) 1 1

36 | 20048-31390 | Fr—7—L(A) 2 2

37 | 20048-31400 FY¥—7—L(B) 2 2

38 | 20048-41650 S IhH) 2 2

No. — a—F EBRLH THK6150| THK6250| HK625 = JEE

39 | 20048-31440 Abysi— 1 1

40 | 20070-31060 L/A— 1 1

41 | 20050-41800 NURIL=FY 1 1

42 | 20048-41680 BEINIL(E) 1 1

43 | 20048-41690 E3INIL(A) 1 1

44 | 20050-41780 E(a) 2 2

45 | 20050-31550 AREURHARWL) 1 1

46 | 20050-31560 AAVERHAER) 1 1

47 | 20070-41730 FEHAFL 1 1

48 | 20070-41740 FHAFR 1 1

49 | 20041-41730 299 2 2

50 | 20050-41290 | T av7—L(1) 1 1

51 | 20041-41300 ToLavhS— 1 1 L=7

52 | 20070-41490 INRHYT 1 1

53 | 20000-41310 | Fviavr—I)— 1 1

54 | 00930-40018 YA 1 1

55 | 20070-21090 AIZEEE—RIL 2 2 | C-380-19
56 | 20208-43214 | I—4-27°04yM9T) 1 1

57 | 20000-41200 | RFA4vk(12T) 1 1 |12
58 | 03003-41024  AQO—5—Fz—> 1 1 #410 24L
59 | 20070-31330 | &/ \RIL(IERE) 1 1

60 | 00980-42900 Oy H—SW(E) 1 1 16A250V
61 | 20050-41610 FEY—Y 1 1

62 | 00980-42920 ETiIFEI—KF{EE) 1 1 L=1800
63 | 00980-41540 A > abys44 1 1

64 | 20070-31250 BT 1 1

65 | 20070-31260 oA H8— 1 1

66 | 20070-31830  BIEERBHERILLIHR 1 1

67 | 20070-31340 BREHAN—(L) 1 1 SH7A b
68 | 20070-31350 EEH/N—R) 1 1 Sk
69 | 20070-41750 H =T R 2 2

70 | 20070-31040  IBIESFAEHINIL 1 1

71 | 01000-10612 NATSRILE 1 1 M6 X 12
72 | 20070-41040 ESHREZINIL 1 1

73 | 20000-41780 | /SHRFEHMRANBARILL 32 32 M6 X 12
74 | 01000-00640 NARILE 2 2 M6 x 40
75 | 01000-00612 NARILE 2 2 M6 X 12
76 | 01000-00610 RARIE 1 1 M6 X 10




15. ¥BFEEBAssy(6250,625)

No. a—K H@man THK6150 | THK6250| HK625 HE
77 | 20000-43340 | EREAAJL (M6 x 40) 2 2

78 | 20000-42520 JTHRILE 2 2 M6 X 12
79 | 01114-00612 | +F AT SRINRD 1 1 M6 x 12
80 | 01113-00406 | +F s AfFAVELRD 2 2 M4 X 6
81 | 20050-41310 ER{d4+2(0I) 1 1

82 | 20007- 409 Bt 4 4

83 | 20041-41700 R {3 (5) 2 2 L=5
84 | 20000-41910 i 1 1 M6 X 12
85 | 01200-00605 NAEFYE 4 4 M6
86 | 01250-00606 E&FF vk 9 9 M6
87 | 01290-90600 Fao+vk 2 2 M6
88 | 01400-00605 NI H R 4 4 M6
89 | 01421-00610 ESYH 17 17 M6
90 | 01420-01016 ESYH 2 2 M10
91 | 01420-01223 ESYH T 4 4 M12
92 | 01500-02012 BEY 1 1 P2x12
93 | 01500-03020 By 2 2 3x20
94 | 01500-03025 2 | 2 2 3x25
95 | 01500-02515 [ 6 6 $25x15
96 | 20000-41820 RE>(16) 1 1 $23
97 | 01501-00612 REY 2 2 6
98 | 01501-00918 REY 6 6 9
99 | 01511-01223 RE>(B) 2 2 $12




16.8%&TAssy(6150)




16. #&FEEPAssy(6150)

No. a—K BB TR THK6150 | THK6250 | HK625 HE
1 | 20071-21010 PR () 1

2 | 20071-21020 HAERZUE(R) 1

3 | 20070-41300 | RAbkw/Ss— v TR (328) 2

4 | 20070-21100 BiERY/N— 1

5 | 20050-41770 | A3 —S v TR(N) 1

6 | 20000-41800 AL REZ(D) 4 12x18
7 | 20070-31590  {&FE[E#5T5(80) 1

8 | 20070-31310 | IS 7—LGEE)L) | 1

9 | 20070-31320 | IS5 7—LGHEER) | 1

10 | 00931-40008 [E#E/ A\ 2

11 | 20000-41320 | AL AR TYLY 2 10x 13
12 | 20048-41100 RAILwIN— 1

13 | 20035-41010 | RZ7A4YrA1T) 1 #25 11T
14 | 20041-41040 | R A4 yk(42T) 1 #25 42T
15 | 20048-41060 | RFA4vk(22T) 1 #22 22T
16 | 20050-41240 | R A4 yk(13T) 1 #25 13T
17 | 20048-41030 | #JILARTO4 YR A) 1 #25 21T-19T
18 | 20048-41040 | A JLRFO4 vk (B) 1 #25 33T-27T
19 | 20048-41090 | A9 ARTO4 vk 1 #25 56T-14T
20 | 03003-25074  A—5—FI—Y 2 #25 74L
21 | 03003-25076 A—5—FzI—V 1 #25 76L
22 | 20070-31280 TryB—HAR 1

23 | 20070-31360 Dy —(&) 1

24 | 20070-31290 | #&RERV/SA—HAFWL) | 1

25 | 20070-31330 | {&FEHRy/A—HAFR)| 1

26 | 20070-31270 BFEURAAF 1

27 | 20048-41200 FEHAR 2

28 | 20048-41120 Foiave 1

29 | 20048-41130 ToiaviNg 1

30 | 20070-31220 | {&FERu/N—ThE 1

31 | 20070-31230 NURIVZITE 1

32 | 20070-31240 | S yA—(\va) 1

33 | 20070-41640 v y3—BEASANIL 1

34 | 20030-44138 SE AR 1

35 | 20050-41290 | T3> F7—L(1) 1

36 | 20041-41300 Foiavhs— 1 L=7
37 | 20070-41490 INRHYT 1

38 | 20000-41310 | F>i3avJ—I)— 1

No. — a—F EBELH THK6150 | THK6250| HK625 = &

39 | 00930-40018 5l5R/ N 1

40 | 20000-41040 | R4S YRATT) 1

41 | 20000-41080 | RFO%4yk(15T) 1

42 | 20066-31010 | FY—FE—FJL 1 25W/1/180
43 | 03003-41025 | O—5—FI—> 1 #410 25L
44 | 20070-31330 | f&BIE/\RIL(ERE) 1

45 | 00980-42900 Oy h—SW(EE) 1 16A250V
46 | 20050-41610 FEI—Y 1

47 | 00980-42920 | ERI—K(ERE) 1 L=1800
48 | 00980-42930 Hffa—K®#250-EY) 1 L=200
49 | 00980-42940 | ffa—KF#187-EY)| 1 L-200
50 | 00980-41540 A< aOyh44 1

51 | 20070-31250 AR 1

52 | 20070-31260 roAS DN — 1

53 | 20070-31830  1BIEERBHERILLIHR 1

54 | 20070-31340 BEHNAA—L) 1 SikI4+
55 | 20070-31350 BEHAN—R) 1 SikI4+
56 | 20070-41750 HA =Rt 1R 2

57 | 20071-31060 | 1BEEREHINIL 1

58 | 20000-41780 | /NREHANARILL] 26 M6 X 12
59 | 01000-00612 NARILE 2 M6 X 12
60 | 01000-00640 NARILE 2 M6 X 40
61 | 01000-00610 ANARILE 1 M6 X 10
62 | 20000-42520 JIRILE 2 M6 X 12
63 | 20000-43340 | FRETAJL (M6 x 40) 2 M6 X 40
64  01114-00612  +FRMAFSRPRTS | 3 M6 X 12
65 | 20007- 409 Bt 6

66 | 20041-41700 EEft R (5) 2 L=5

67 | 20050-41310 B ftrI(I) 1

68 | 20000-41910 bR 1 M6 X 12
69 | 01200-00605 NATYE 4 M6

70 | 01250-00606 EEftFvk 9 M6

71 | 01290-90600 Faorvk 2 M6

72 | 01421-00610 ESYH TR 15 M6

73 | 01420-01016 ESHH 2 M10

74 | 01420-01223 ESHYAH* 2 M12

75 | 01400-00605 INRHFHR 4 M6

76 | 01500-03020 B 2 3x20




16. 1&EFEERAssy(6150)

No. a—F ER 5 2 FF THK6150 | THK6250 | HK625 HE
77  01500-03025 FEY 23 3x25
78  01500-02012 [ 1 p2x12
79 | 20000-41820 RE>(16) 1 $23
80 | 01501-00612 REY 2 ¢6
81 | 01501-00918 REY 2 ®9
82 | 01511-01223 RE>(B) 2 12




17. A—J)LAAK Assy

No. O—K EB SR B R THK6150 THK6250 HK625 & HHE
1 | 20048-21020 O—J)LAAF 1 1 1
2 | 20041-41790 rF<—4 1 1 1
3 | 20000-41780 /NAFHANRARILL 4 4 4 | M6x12




18. I#+—7% Assy

No. O—K BB B R THK6150 | THK6250| HK625 HE

1 | 20048-31010 24—%(C) 41 41 41

2 | 20048-41140 T7+—0% % 2 2 2

3 | 04100-00619 oYy 2 2 2 178A

4 | 02100-01010 CRIL R 2 2 2 WA10
5 | 20000-41780 /\RFHARARILL 4 4 4 M6 x 12




19. EZ5 (T Assy

No. a—K HRB THK6150 | THK6250 | HK625 HE
1 | 20041-31100 oAy pam) 1 1 1

2 | 20042-41080 EIXR(TRYEE 2 2 2

3 | 01000-00612 NARILE 4 4 4 M6 X 12
4 | 01250-00606 EE TSy 4 4 4 M6




7y ASsYy

3% LlER T

~
~N

20.%




20. ESELMEETSY Assy

No. — a—F BRLH THK6150 | THK6250| HK625 = &

1 | 20070-31180 HAERZVEWL) 1 1 1

2 | 20070-31190 HAFRIVE(R) 1 1 1

3 | 20070-31160 FEEEL 1 1 1

4 | 20070-31170 FEEER) 1 1 1

5 | 20070-41230 TmivIk 1 1 1 10x 4515
6 | 20041-41040 | R ZFO4yk(42T) 1 1 1 P12

7 | 20035-41010 | RZFO4yr1I1T) 1 1 1 #25 11T
8 | 03003-25060 A—S5—FI—V 1 1 1 #25 60L
9 | 20112-44115 27A4y(19T) 1 1 1 #25 19T
10 | 20112-44114 | R4 yr(14T) 1 1 1 #25 14T
11 | 03003-25030 A—S5—FI—V 1 1 1 #25 30L
12 | 20070-31200 #MELEERIT S TR 1 1 1

13 | 20208-42303 AR—H— 2 2 2 0.8

14 | 20136-41120 T+—9h5—A 2 2 2 L=8

15 | 20070-31600 TS5 H18— 1 1 1

16 | 20000-31090 @ FAEIARILF(MEX125) 2 2 2

17 | 20108-44150 [EfE/ S 2 2 2

18 | 20107-41018 JLFxvyT 2 2 2

19 | 20108-44120 ATy 2 2 2

20 | 20064-41160 | RAby/S—S v Tk 1 1 1 10 x 397
21| 20070-31210 | A/N—(EIFELEESH)) 1 1 1

22 | 20070-31810 EIZTI—b 1 1 1

23 | 20070-41570 | EIZITERMFEEA 2 2 2

24 | 20070-41600  EIZ(THE{F£EB 2 2 2

25 | 01620-13206 | TSAU KRR yk(HL) 8 8 8 |¢32 L=6
26 | 20000-41320 | AAILLARTYL Y 6 6 6 10x13
27 | 20000-41780 | /NREHANAARILL 4 4 4 M6 X 12
28 | 20000-41730 | /AREARANARILE 2 2 2 M6 X 12
29 | 01114-00612 | +FIUFFSRIDRD | 1 1 1 M6 X 12
30 | 20033-41020 | <Y 1E&HF Y ~(M6) 2 2 2

31| 01420-01016 ESYH* 8 8 8 M10

32 | 02110-00808 EVVY 4 4 4 U8

33 | 01500-03025 By 4 4 4 3x25
34 | 01421-00610 ESYH* 2 2 2 M6




(BL->vv7n) Assy

A

ZAREL




21. BIEE TS (BE-2 2T )L) Assy

No. — a—F BRLH THK6150| THK6250| HK625 | &

1 | 20070-31140 | 73V A48 U9° L)L) 1 1

2 | 20070-31150 | 7°3Y R4 (U9 L)(R) 1 1

3 | 20048-31310 PYrREHIN— 2 2

4 | 20070-41180 | RAbw/S—S v TM(364) 1 1 L=364
5 | 20070-41160  [EE5T 5 h/\—(Fi) 1 1

6  20070-31130 [E5 7 53(140) 1 1

7 | 20070-41190 752 0vkD) 2 2

8 | 20048-42320 SRS/ N— 1 1

9 | 20048-31620 753 7—LR) 2 2

10 | 29224-41331 | HARKREUK(E) 1

11 29224-41341 . HARKREVK(H) 1

12 1 20070-31050 [EEZTSLHEI~—Y 1

13 | 20048-42350 HF¥rY<—4(L) 1

14 | 20048-42360 A¥rJYT—4(R) 1

15 | 20048-42431 FEHAR 2

16 | 20070-31840  [EIERIT S H/\— 1 1

17 | 20000-43340 REARILE 2 M6 X 40
18 | 20000-43350 SREARILE 2 2 M6 X 60
19 | 20000-41320 A AJLLARTYLY 2 2 10x13
20 | 20050-41450 B8R/ 2 2

21 | 20035-41170 *#(B) 1 1 L-37

22 | 20035-41010 A7°0FyMI1T) 1 1

23 | 20035-41020 A7°0yM42T) 1 1

24 | 03003-25102 4 A—5—Fz—> 1 1 #25 102L
25 | 20000-41780 | /NRFEHANARILL 12 10 M6 X 12
26 | 01000-00610 NARIE 1 1 M6 X 10
27 | 01114-00610 | +F 5 UFTFSRIMRD | 3 1 M6 X 10
28 | 01250-00606 EEE vk 2 M6

29 | 20133-41220 AyoFybk 2 2 M6

30 | 01290-90600 Favrvk 2 2 M6

31 | 20033-41020 | <7J1) 1k A5 (M6) 6 4

32 | 01421-00610 ESYH* 4 4 M6

33 | 01420-01016 ESYH* 1 1 M10

34 | 20005- 419 AL 4 4

35 | 02110-00908 ER L AR 1 1 FEUE9
36 | 01500-03025 BEY 2 2 3x15
37 | 20208-42303 AR—H 1 1

38 | 20048-42420 v ThH/N—(20) 1 1




22. V3 L. Assy

No. a—FK ERE ] THK6150 | THK6250 | HK625 HE

1 | 20050-21010 V3 L 1

2 | 20050-41030 V3 LXHE 2

3 | 01290-90600 Fao+vk 2 M6

4 | 01000-00612 RARILE 2 M6 x 12
5 | 20033-41020 | <71 1k&HFv(M6) 2




23. B 2T Assy

No. a—FK ERE ] THK6150 | THK6250 | HK625 HE

1 | 20070-31100 | R+ —NEL) 2 1

2 | 01620-13206 | TS5AFJRyR(h) 8 4 $32 L=6
3 | 20000-42490 ZvI(RV) 8 4




24. ZDh-FE T

17

=

?4 15 16

No. a—FK BB FR THK6150 | THK6250 | HK625 HE

1 | 20000-41810 TSR 1 1 1

2 | 20059-21031 By /—(F) 2 1 =AY
3 | 20060-21081 | f#BhRy/S—(\2a) 1 1 &9)-y
4 | 01114-00610 | +FyAFFSRINRD 6 4 M6 X 10
5 | 20000-42560 EFEF b 6 4 M6

6 | 20060-21090 24(P) 1

7 | 20061-21040 74(E) 1

8 | 00992-40130  FESAJL CL-10 1 1 1 PL%

9 | 00992-40040 | FESA~JL CL-3 1 1 1 PL%

10 | 00992-31050 | FESA~JL CL-20 1 1 1 PL%

11 | 20070-31010 KSR 2 THK6250
12 | 20070-31020 KSR 2 HK625
13 | 20071-40340 KSR 2 THK6150
14 | 20070-41010 mikERAAE 1 THK6250
15 | 20070-41030 HikERAE 1 HK625
16 | 20071-41060 mikERAAE 1 THK6150
17 | 29223-30010 | [FUL Y £5< AsAssy 1 1 1




